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Math 2 - Honors

Unit 1 - Geometric Transformations Date A
Unit Review
e For each transformation, state the coordinates for each:

Image of (x,y) | Image of (1,4) | Image of (=2.7)

1. Reflect over y — axis <‘ XLL{) ( \ LI) ( Q —‘7

2. Reflect over x — axis (’X;y\/) ( » Ll) (-4 =

3. Reflectovery = x (U\ y) (u , D (7 ':Q)

4. Reflectovery = —x (‘”{1', _ X) (-‘l-li - \) (“—i 2

5. Rotate 90° clockwise about the origin | (|, “«;;{ ) [4=)) ( 1,2)

6. Rotate 90° counterclo ] g i

N clockwise about (_ ‘1 | X_) ( L{/ ‘) ( _ ‘7/ - 02)

7. Rotate 180° about the origin (vv\X i} M) ( ] L{) ( Q,' —')

8. Rotate 270° about the origin ( U, . ”Z) (LI . \ (7 :O

7 £ "

e For each of the following, graph and larel the image for each transformation described.

e Then write using the correct notation.
9. Rc ate 180° about the origin 10. Translate right 4 units &

8. Reflect over the lin
\/) A3, 3)  down 3units
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on is mapped to the other pentagon by a reflection, translation,

State whether the specified pentag

11. Pentagon 1 to Pentagon 3 ;
LS e hon 3

12. Pentagon 5 to Pentagon 6

p\ﬂ"( (han 9 \

Tiansiation

13. Pentagon 2 to Pentagon 5 ;
AL (oM s L &V

14. Pentagon 1 to Pentagon 2 :
ApAarhon

15. Pentagon 4 to Pentagon 6




. perform each of the transformations using the set of points below for #16 19

{(7: —4) (0: 6) (_21 3)}

(-%,x)

18. Rotate 90° counter — clockwise

Fs Reflect over the y — axis L & \j)
-
) (14 (0,0(8.3)5 L0 DL (3 DS
19. Dilate by a scale factor r = %

17. Reflectoverthe liney = —x ( J X _
5 (35,200,303

z (q'ﬂ (‘ (ﬂ)()) ‘j‘) 1(,\/;;)

e Answer each of the foll%|wing
Q' Y f

20. If translation (5, 3) - ( —4,0), then (8, 2) - (
.(12.-8)

21, ET:{xp) = (x 5 \yﬁ- )and the pon@ ('Wjﬂnd the point
ﬂd w
2 Q@ (- u )

22. M is reﬂected overt a}ls If M is (6,—1), find M". »
g
23. Cis rotated about the ongm "L#)C’ ic (=9, 5), find C. ( CL
Fiodoeimege QYW (Y,
) 0 he image of Y"is (0, -3) find Y. ( O 3

24. Y is rotated counterclockwwe 180° ’ft

W ( X ) ) find the image. <7 9\)

25. Afigureis reﬂected over the liney = %z lf the preimage is (2, 7),
L (1) >(Yux, ﬁlf))

v, X
26. AABC has vertices A(5,—2), B(—4, 0), €:7,1). 27. Dilate AABC using a scale factorr= -.
b
‘ Aly,9)
Find the coordinates of the image of the triangle —t> & ‘( ) -2)
if it is dilated by a scale factorr = 3. =y (’-l L\g
= (7
L1 G O \
wll -l - 7
14, 0 _6( %,0)
g(_la, O ) g (9,9
c«dl 3 |

Explain why the two triangles are similar.
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28. ABCD is dilated by a scale factor Gf r=2 t? produce A'B'C’D’.
The lengths of the eents of th fage are as follows:

AB = 6 CD=3 AD = 4 -
£

. — L
3 Wh rall ( -
a atis the length of B'C’? ’:.} \O Q)

b. What s the length of Z'B"2 (' x| A

c. Ifthe slope of CD is % what is the slope of C’'D"?
What allows you to make this conclusion?
W et chang e Stop
Y3, 00004 0 *GU‘W‘“ gt

<
. @lth a scale factor of 2 5 lf th?. perimeter.c 'I'Il!ﬁ!lh es, what is the perimeter
:1 > 2 pG( VNYV y — L‘O)

3 _X.-%‘?/ -Ho=1o d X z
? ‘ > 5\9 ’-/0 X |(0

@ 4)50 Fc;?%ach problem, there is a composition o‘ motions. Using your algebraic rules, come up with a e
after both transformations have taken placz.
— (¥, )

e MeasuIé&s,

a. Translate a triangle 5 units left and 3 units up, and then r;[{lect the triangle over the x — axis.

(O = (%-5,y13) > (-5, )51 3) )
b. Translate a triangle 2 units right and 7 units down, a en rotate 90° clockwise.
() > (xra, 4 1)> (47, T~ (4, -x-3)

c. Rotate a triangle 90 degrees counterclockwise, and then reflect in the liney = x.

(1)~ (1,5 *(%7v)

Reflect in the line y = -x, and then translate right 4 units and down 2 units.

(% )= (24,70 > Y- X -3)

@n equilateral triangle with sides of length 12 cm is reﬂected conzecutwely across B!o li ﬂthat are parallel

and 12 cm apart. Describe the result using another type of transformation.
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Fill in the correct letter after the given transformation:

a. Rotate 60° clockwise: E — @

9o Pryeny
b. Rotate 60° counter — clockwise: D —

W0/p0 ) kvt n

c. Rotate 120° clockwise: F — 0

‘80/ = A \(/\r’o‘\
WD~ AN 0
d. Rotate 60° clockwise: Lg - B %a

-~

3000/1g

Whyo- Hoon (O m‘“ (/ ‘)
e. If @ aps A to B, then it also maps O to ' and E to )

f. A reflection occurs over FC, B maps to

|\ ) and F maps toL-

2( 3)’( 737‘ \' XU

35. 2x+3y = 6:( (L
—1 /b%; 6

y = —x+3

A 3013119) =0 63

v - Y’rq L

;

Solve:

2. 4 34, 2v+6=4(x+8)
= X x+3 9\')“(.0 47(1(5’9\
LD
Ml 7 Ux \o &%431
-AY A% 39\31
o®dr [::g) ~4u°
> 7 (13- x)

3x -3y = —12
Y
1

37.)/(3x + 5y = 6
5‘ % — 4y-——

| AXAA0Y =Y
10X '303: -35
ax= 2

2% A

=Y

383 (6x — 8y—5%)
Y Ux + 6y =2
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Loy A2y B ) Sty 2
54% e B add
’qj JR
¢ @




04 g4
a) Translated right 1 and up 4:
D: L Q ]S’\‘

R: EQ‘Q’]

b) Reflected in the x — axis:

D: ﬂ.‘ﬂ ("\L,’\/)

R: Y‘5: aj

c) Reflected in the y — axis:

D: ["4;!] ('X,‘)‘)

R: ['Q.S]

. given a line segment with endpoints (1, -2) and (4, 5)
A) State the domain and range of the pre —image segment.  D: _|[ l ’;l 1. Rel ‘3,5 ]

B) State the domain and range of the image interval notation when the relation is:

d) Reflected in the liney = X:

D:[‘g §] ( ,')C)
re L1 YT 7

e) Rotated 90°: (-)/ / X )

oL 0.83
R: [’)L‘_}

f) Dilated by a factor of 5 with a center of (0,0):

D: [6)an
R: [’]0)9\5_’_’




